

Name: Sedi ughoro Fortune

Matric No: 19/Sci101/003

Department: Computer Science

$$\frac{3x-1}{(x-1)(x-2)(x-3)}$$

$$= \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

$$3x-1 = \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

$$3x-1 = \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$A(x^2-5x+6) + B(x^2-4x+3) + C(x^2-3x+2)$$

$$3x-1 = Ax^2 - 5xA + 6A + Bx^2 - 4xB + 3B + Cx^2 - 3xC + 2C$$

$$3x-1 = Ax^2 + Bx^2 + Cx^2 - 5xA - 4xB - 3xC + 6A + 3B + 2C$$

$$3x-1 = x^2(A+B+C) + x(-5A-4B-3C) + 6A+3B+2C$$

$$-1 = 6A + 3B + 2C \quad (1)$$

$$3 = -5A - 4B - 3C \quad (2)$$

$$0 = A + B + C \quad (3)$$

eqn (3)

$$A = -B - C \quad (4)$$

Substitute eqn (4) into (1) & (2)

$$6(-B-C) + 3B + 2C = -1$$

$$-5(-B-C) - 4B - 3C = 3$$

$$= -6B - 6C + 3B + 2C = -1$$

$$+5B + 5C - 4B - 3C = 3$$

CLT

$$-6B + 3B - 6C + 2C = -1$$

$$+5B - 4B + 5C - 3C = 3$$

$$-3B - 4C = -1 \quad (5)$$

$$B + 2C = 3 \quad (6)$$

$$B = 3 - 2C \quad (7)$$

Substitute eqn (7) into (5)

$$3 - 2C + 2C = 3$$

$$-3(3-2C) - 4C = -1$$

$$-9 + 6C - 4C = -1$$

$$-9 + 2C = -1$$

$$2C = -1 + 9$$

$$\frac{2C}{2} = \frac{8}{2}$$

$$C = 4$$

$$B = 3 - 2(4) \quad \therefore A = -(3-5) - 4$$

$$= 3 - 8$$

$$= -5$$

$$\therefore A = 1 \quad B = -5 \quad C = 4$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{A}{x-1} dx + \int \frac{B}{x-2} dx + \int \frac{C}{x-3} dx$$

$$= A \ln|x-1| - B \ln|x-2| + C \ln|x-3| + C_1$$

(2)

$$\frac{x^2+x+1}{(x+2)(x^2+1)}$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$x^2+x+1 = \frac{A(x^2+1) + (Bx+C)(x+2)}{(x+2)(x^2+1)}$$

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

$$= Ax^2 + A + Bx^2 + 2Bx + Cx + 2C + A$$

$$= (A+B)x^2 + (2B+C)x + (2C+A)$$

$$A+2C = 1 \quad \text{--- (1)}$$

$$C+2B = 1 \quad \text{--- (2)}$$

$$A+B = 1 \quad \text{--- (3)}$$

$$C = 2B-1 \quad \text{--- (4)}$$

$$A+2C = 1 \quad \text{--- (1)}$$

$$A+B = 1 \quad \text{--- (3)}$$

$$A < 1/5 \quad B > 3/5 \quad C > 1/5$$

$$2(2B-1) = 1$$

$$4B-2 = 1$$

$$4B = 3 \Rightarrow B = 3/4$$

$$A+B = 1 \Rightarrow A = 1 - 3/4 = 1/4$$

$$C = 2B-1 = 2(3/4)-1 = 1/2$$

$$\frac{x^2+x^2+1}{(x+1)(x^2+1)} = \frac{A}{x+1} + \frac{B}{x+2} + \frac{C}{x+3} + \frac{D}{x^2+1}$$

$$\frac{2}{5(x+2)} + \frac{3}{5(x^2+1)}$$

$$\int \frac{2}{5(x+2)} dx + \int \frac{3}{5(x^2+1)} dx$$

$$= \frac{2}{5} \ln|x+2| + \frac{3}{5} \arctan(x/1) + C$$

(2)

$$\frac{x^2+1}{(x-3)(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2+1 = \frac{A(x-2)^2 + B(x-3)(x-2) + C(x-3)(x-2)}{(x-3)(x-2)^2}$$

$$x^2+1 = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{x-2}$$

$$x^2+1 = \frac{A(x^2-4x+4) + B(x^2-3x-2) + C(x^2-3x-2)}{(x-3)(x-2)^2}$$

$$x^2+1 = A(x^2-4x+4) + B(x^2-3x-2) + C(x^2-3x-2)$$

$$= Ax^2 - 4Ax + 4A + Bx^2 - 3Bx - 2B + Cx^2 - 3Cx - 2C$$

$$x^2+1 = (A+B+C)x^2 + (-4A-3B-3C)x + (4A-2B-2C)$$

$$A + B = 1 \quad - (1)$$

$$-4A - 5B + C = 1 \quad - (2)$$

$$4A + 6B - 3C = 0 \quad - (3)$$

From equ (1):

$$A = 1 - B \quad - (4) \text{ put (4) into 2 \& (3)}$$

$$-4(1 - B) - 5B + C = 1$$

$$+4(1 - B) + 6B - 3C = 0$$

$$-4 + 4B - 5B + C = 1$$

$$4 - 4B + 6B - 3C = 0$$

$$B + C = 1 + 4$$

$$2B - 3C = 0 - 4$$

$$B + C = 5 \times 2 = 2B + 2C = 10$$

$$2B - 3C = -4 + 1 = 2B - 3C = -4$$

$$A = 10 \quad B = -9 \quad C = -5$$

$$\frac{x^2 + 1}{(x-3)(x-2)^2} = \frac{10}{x-3} - \frac{9}{x-2} + \frac{5}{(x-2)^2}$$

$$10 \ln(x-3) - 9 \ln(x-2) + \frac{5}{x-2} + C$$

$$\int \frac{x^3 + 3x^2 + 2x + 1}{x-1}$$

Separate by the fractions

$$= \frac{x^3}{x-1} + \frac{3x^2}{x-1} + \frac{2x}{x-1} + \frac{1}{x-1}$$

$$\int \frac{x^3}{x-1} dx = \int \frac{x^3 + 1}{x-1} dx = \int \left(\frac{x^2 + 1}{x-1} \right) dx$$

~~$$\frac{x^3}{x-1} + \frac{3x^2}{x-1} + \frac{2x}{x-1} + \frac{1}{x-1} + \ln(|x-1|) + \frac{x^3}{x-1} + \frac{3x^2}{x-1}$$~~

~~$$+ \frac{2x}{x-1} + \frac{1}{x-1} + \ln(|x-1|) + \frac{x^3}{x-1} + \frac{3x^2}{x-1} + \frac{2x}{x-1} + \frac{1}{x-1} + \ln(|x-1|)$$~~

~~$$= \ln(|x-1|) + \ln(|x-1|) = \ln(|x-1|) + C$$~~

~~$$\frac{x^3}{x-1} + \frac{3x^2}{x-1} + \frac{2x}{x-1} + \frac{1}{x-1} + \ln(|x-1|) + C$$~~